MCJQ %5

i

EE (CAR) REEL

IR e R

mindman

Rkt

O RNFRERPCRWA M A LM TaxaH A i -

® LRI 2 4% » A El OB LA B Rt 4E 7 50 R
[ E IR - SEE AR E 2 AR ER -

© B KT Lo PRIV SR S B3R M - RORBEE B B 5 5E B
Bl > AR RO SE R S ER s s e e A - R EIRE
EHMERAA A E 0K

© [T S AR > FOSMEI FHBASERORY 08 (R £ 40 e B 8 R 7 AR
I ML E -

o 55 [EE At - RCE » RCE1HUERSSEE R AHE LAZeH - il

22 -

® ] | S MBI EE ST > 612~ 16 AT =THEE - ¢ 20~1007]
VYT E -

Bk

$12,16 |5,10,15,20,25,30 |35, 40, 45, 50, 75, 100 TEB 2L P
620 5,10,15,20,25, | 75,100,125,150,175, 200 SRELAIAE (mm) 12,16 | 20,25 | 32,40 | 50, 63 |80, 100
$25 |30,3540,45,50 |75,100,125,150,175,200,250,300| | ELAFIIH&R ] M5 % 0.8 Rc1/8 | Ro1/2 | Re3/s
o 3280101202550 105 150 175,200,250,300 e ZER

35,40,45,50,75,100 i (MPa)  [0.07~1 | 0.05~1
RAELPIE FEYEFTRE (mm) it BE 7 1.5 MPa
$100 5,10,15,20,25,30,35,40,45,50,75,100 VA 8 —5C~+60C (i)

5 52 R ] 50~500 mm/sec

Zﬁ%&%??;fﬁ%ﬁ“@gé%ﬂ; PR BUREER (%) RCB, RCE, RCE1, RDEP

SRUL / FTHEFCER -

HEFABIG R EEZ 0-T H -

MCJQ—12—20—25 M—F—[]

U2 HI % 35 2 8-8 H (RCB), 8-10E (RCE / RCE1), 8-15H (RDEP) -
RCB {4 i f > ¢ 50~ ¢ 100 -

TN -
FAC — MCJQ — 20

5 RELAE M : BREE Big SELRTE
coaAE Al -
1: i 712 i e REEL
F @ R gl = F LB
i cB
BLE MR
WEH??EQ/*E?#%‘E! H i M5%0.8 E =3 FAC
Z B (GHiFH ¢ 12~ ¢ 25)
% AAR Bz 45 R e FBC
G: Gy
11 {=| wmsr NTP : NPTZ RF
(i#H ¢ 32~ ¢ 100)
12| [{B=| wmrz

AW mindman



MCJIQ Posbhb % F % o/ iR

EE (CRR) mEEL mindman
EEITIE Z TR R
0@09 (5% 12(19(9)
Wi ! L]
I g
THETTRE — L EEMME
TS = PEEEE B
HH| o 12| 16| 20|25 |32 | 40| 50| 63 | 80 [100 fhaE BE T aa) | (e
1 | g EEs w1
[FIE sned x 1 ®
R sE% Iy 1 °
RS SUS T 1
4 | waen -
W |SUS T4 1
5 | 1H% e & 12~32 Pfupen | 1 ®
6 | IHZEMEEER NBR 1 ® ()
7 | fLAE R sus | e 1 °
8 | &R NBR 1 o [ )
o | iR FgE SUS | THEH SCM 1 °
10 | EIEEEE NBR 1 ° °
11 | IEZEE NBR 1 [ ] ()
12 | HEEES NBR 2 ° °
13 | Rt il 1 °
14 | fitpEE — Wi 1 °
15 | EIEIHLE — | wxes 1 °
N ¢ 12~32 R IRTE ; ¢ 40~100 iRz
ST S A R R R STHEFLSE
FEREGHE] FEEHR [ mER | EERS Lo R e {EFERAD
£ w: firg  (EERED
— - AEERERE o B
B 1 1 1 1 W | RamRe Pt R
12 KSYR-6 OPA-12 S-11 d4xw $12 | CP-MCJQ-12(M) $12 | PS-MCJQ-12
16 KSYR-8 OPA-16 S-14 d5xX w1 ¢ 16 CP-MCJQ-16(M) ¢ 16 PS-MCJQ-16
20 KSYR-10A OPA-20 S-18 d6x w1 $20 | CP-MCJQ-20(M) $20 | PS-MCJQ-20
25 KSYR-12 OPA-25 S-22.4 d8x w1 $25 | CP-MCJQ-25(M) $25 | PS-MCJQ-25
32 KSYR-16 OPA-32 s28 s-9 $32 | CP-MCJQ-32(M) $32 | PS-MCJQ-32
40 KSYR-16 OPA-40 S-36 S-10 ¢ 40 CP-MCJQ-40(M) ¢ 40 PS-MCJQ-40
50 KSYR-20 OPA-50 S-46 S-16 ¢ 50 CP-MCJQ-50(M) ¢ 50 PS-MCJQ-50
63 KSYR-20 OPA-63 S-60 S-16 ¢$63 | CP-MCJQ-63(M) $63 | PS-MCJQ-63
80 ORA-25 OPA-80 G-75 d20 X w1 ¢80 | CP-MCJQ-80(M) ¢80 | PS-MCJQ-80
100 | ORA-30 OPA-100 G95 S-26 $100| CP-McJQ-100(M) | |[#100] PS-MCJQ-100

/M|Mindman



MOCJIQ PasbhE R ¥ w7

i

HE CAR) wEEEL

PrP

NRERRREY
INRY

mindman

RITAEFf{ R A

2905

/

G

W (@ aepy

1 m|
N\ A1
— 55 JRE .
RITHE— T EZHME -
I = REEALRHE| S,
L C| g 12|16 |20 | 25|32 | 40 | 50 | 63 | 80 fitiE R T me) S
1| A8 EE AR | 1
i $HE<E ¥ 1 (]
B A< Rt 1 (]
) BT SuUs i 1
4 | IEZEM
TG |SUS ] 1
5 | Ih%E e & 12~32 [5HaEEEE | 1 ()
6 | TEEMEER NBR 1 ® o
7| FLAHIER F5 SUS | L ] 2 ®
8 | (TR NBR 2 o )
o | wmaigk g5 SUS | TH#H SCM 1 °
10 | TEFEERER NBR 1 ( (]
11| EERR NBR 1 (] (]
12 | FERMEES NBR 2 (] (]
13| A el 1 L J
14 | iR FRIHHE 1 L J
15| EIIHE — | mwree 1 °
% ¢ 12~32 EERGIREER ; ¢ 40~100 iR e
Ty Ly AES R = NI
RITIE B EE BRI — TR | STHE(RYE
EENEER] mEEHER | WER TR NEERLR e A
: SEERME woww EEE
[EEES W i i 12
e 1 1 2 1 LS NEREH: [T A
12 KSYR-6 OPA-12 S-11 d4xwi $12| CPL-MCJQ-12(M) $12| PSL-MCJQ-12
16 KSYR-8 OPA-16 S-14 d5x w1 $16| CPL-MCJQ-16(M) $16| PSL-MCJQ-16
20 KSYR-10A OPA-20 S-18 dé X w1 $ 20 CPL-MCJQ-20(M) ¢ 20 PSL-MCJQ-20
25 KSYR-12 OPA-25 S-22 d8 xw1 ¢25| CPL-MCJQ-25(M) ¢$25| PSL-MCJQ-25
32 KSYR-16 OPA-32 d28 x w2 S-9 ¢ 32 CPL-MCJQ-32(M) ¢b 32 PSL-MCJQ-32
40 ORA-16 OPA-40 S-36 S-10 ¢40| CPL-MCJQ-40(M) ¢$40| PSL-MCJQ-40
50 ORA-20 OPA-50 S-46 S-16 $50| CPL-MCJQ-50(M) ¢50| PSL-MCJQ-50
63 ORA-20 OPA-63 S-60 S-16 ¢ 63| CPL-MCJQ-63(M) ¢$63| PSL-MCJQ-63
80 ORA-25 OPA-80 AS-41| G-75 d20 X w1 ¢80 | CPL-MCJQ-80(M) ¢80| PSL-MCJQ-80

/M mindman



MCJQ Znitt

HE CAR) wEEEL

i

mindman

No. LG HX
PC &E#:8H (PISCO) 9-3 (55—l
JSC k% (PISCO) 9-21 (F—i)
10 | RCB fs 8-8
11 | RCE/RCE1 fdj&s 8-10
12| RDEP fdijgs 8-15

No. LA HRX

1 LB ZeHEp i 2-14,16

2 FAC/FBC ‘224 2-14,15,17,18
3 | CB+PIN Ze8Efi ¢ 2-15,19,20

4 | RF BEZ g 2-20

5 | MFCF@jEzHE 8-2

6 MFCS {Z &) HH 8-4

7 | PHS fiR#UA 8-5

/M|Mindman



MCJQ HHBIRSE ¢12~ 932

HE CAR) wEEEL

b 12

¢ 32

2X4-¢ OB % RB

b 16

2X4-¢$ OB % RB

H %5 C

¢ 20, $25

H4#%C

S

oY
X

2 X4-OA F RA

1712 5~100

LA
= =

mindman
T 283100
= &

2X4-OA i RA

frieketa 100

- =

&5 s w 3
A
TS~ ( G
K &
M
E

I 1E
i
p=4
o S
> x5l M= o
>1%l= =0 3
1 fl I 1 |
u 1 1 |
o ShjL| Beife
B X -
Bf A+THE
17 5~100
<Q.‘ 2-P ’L
=7 =
I
T i 23
i z 2 g
- N
1 <+ S JN_
L Il [ |
L B+{7f2
AT

| [
2X4-OA FZERA  \

H1

b 12~25

¢ 32 FRHETTHE 5~100

¢ 32 £A474% (i1 100)

i A%
g

H1

MCIQ-11(#Fims M)

H1 L1|L2| X

M5x0.8 14 |24 | 105

Riiay

M6x 1.0 15.5( 25.5| 12

20 M8x1.25 |18.5| 28.5| 14

25 M10x1.25|22.5| 32.5| 17.5

— 12
J{; 16

C1
X c1 32 M14x15 |285]|38.5| 23,5
X
L1 (L2)
L2
LT BRI TR, L2 RATHE
b 12~25
ot TR RITHE
172 R Bz glEl L [C|P|E| H [IK|M|N OBl P |Q[RARB|X|Y|Z
P\ gl | A L|A|BJ[F
12 [5~30{20.5|17 35(255(22 |5 32|7.5|135| 6| 6|25|M3%x05(32| 515535 6.5(M5x08[7.5| 7| 4 |4.2(6.3[0.5
16 |5~30(20.5|17 35(255(22 |5 32|7.5|135| 8| 8|29[max07(38| 620 (3.5 6.5[M5x08(7.5 4 [42]6.305
20 |5~50(24 [19.5|5.5(4.5[34 (29555 41|9 [14.5| 7[10(36|M5x0.8[47| 8|25.5(5.4 9 [msx08{9 [10| 7 [6.2[8.8]1
25 |5~50(27.5(22.5(5.5(5 |37.5(32.5|5.5 44(11 [15 [12[12[40|M6x1.0(52]10(|28 |5.4 9 [M5x08[11 [10| 7 [6.2(8.8|1
¢ 32
Rae FEHETTAE FATiE
R MR | FRE P |C|DIE| H |I|J M| N | OA [OB|RA|RB|X|Y|Z
e\ o A s1F|LlQ A|B|F
5~50 30 33|7.5|7 105 Rcl/8
32 62.545.5[12.5 "Cl%113[ 16|45 |Mex125| 60| 4.5 34|5.5|M6x10| 9 [ 10| 7 [6.28.8 1
51~100| 40 33(7.5(7[105 @)

1. AEEATRESS Smm i > P=M5X0.8 - Q=11.5 - F=5.5

/M mindman




MCJQ HBIR ¢40~4100

HE CAR) wEEEL

¢ 50~ ¢ 100

2X4-¢ OB % RB

{72 5~100

mindman

S

fTHE#E:E 100

H 7% C
2X4-OA F7E RA Q 2P F
| T T =T =T
\:"_' 1:"_l' ‘_T:’ ‘_T:r
?ﬁ)
- / .
slw 3 o %L % S J_I\—
Sl e L & © ]i
I |
‘M 7 2X 4-OA F-%ERA
-z [y,
x4 L :ﬂfi 5|
AHTRE L
¢ 40~ 100 ¢ 40~ ¢ 80
et Au ] Pt E SN
40 (1772 5~100) (177285 100) .
¢ . . . MCIQ-T1(Z5805F)
7 H1 H1 E\ et H1ofu|L2| x
1 xﬁ_ xﬂsﬁl‘: 40 [20.5| M14x1.5 | 28.5/38.5| 23.5
. €> sl w3 [ — \ 50 [26 | M18x15 |335[435[285
1 %:FIV—IL 63 [26 | M18x15[33.5(435] 285
1 o1 g o1 80 [32.5| M22x1.5 | 43.5(53.5| 355
x| " — 100 |32.5| M26x 1.5 | 435 — | 355
L1 L2
Jrom TR RAT#E
e | NPTREEAY | BRTREEEY -
g \ | TTRE R A B AlB F|L|Q|[f7/#&#E A|[B|F|[L|Q
5~50 | 365 | 295
40 465(395) 8 | 7 [11 |125~300 |72 |55 |14 | 17 |14
75,100| 465 | 395
5~50 | 385 | 30.5
50 485(40.5(10.5| 8 |10.5(125~300 | 735|555 (14 | 18 |14
75,100 | 485 | 40.5
5-50 |44 |36
63 54 |46 [105| 8 |15 [125~300 |75 |57 |16.5| 18 |165
75,100| 54 | 46
5~50 | 535 | 435
80 63.5/53.5(12.5| 10 |16 [125~300 |86 |66 |19 | 20 |19
75,100 | 635 | 535
5-50 |65 |53
100 75 |63 [13 | 12 |23 —
75,100 75 | 63
;%CDEG“SHIJJJKMN oA |oB| P |RA|IRB|T|[X|Y]|Z
40 |13 [ 16 | 522872, |mM8x125] 70| 5| 57 | 14| 40| 55[mMex10 |9 [Rcis 10]7 [14] 62] 88| 1
50 |15 | 20 | 64 (3552, Mtox15] 86| 7| 71 |17 |50 | 6.6|M8x125 |11 [Rct/aczt1)| 14 [ 8 | 19| 82[108] 1
63 | 15 |20 | 77(35%%,|M10x15[103] 7| 84 [17 60| 9 [Mi0x15 [14 [Retacir2)| 18 [10.5] 19 [10.2[13.8] 1
80 | 21 |25 | 98[43F,[M16x20[132] 6104 |22 ] 77 [11 [mM12x1.75(17.5] Rea8(:k3) | 22 [13.5] 26 [12.2[17.3] 2
100 |27 [ 30 [117| — [m20ox25[156| 65[1235] 27 | 94 [ 11 [m12x1.75[17.5] Reaia(:t3) | 22 [13.5] 26 [12.2[17.3] 2
1. R TR 5mmIE: - P=Rc1/8 « Q=12 « F=8

FE2. FHSREATIE B5mmik: » P=Rc1/8
3. RHSRE TR B 5mmIk: » P=Rc1/4

/M|Mindman



MCJQ HUEE ¢12~¢100 M

EE (CRR) mEREL mindman
AMBIR T ¢ ‘ » ‘
RCB J {0 @ RCE _ _
RNB % | ﬁ I;l vt = — 3
7 y
1
- Eq RDEP s s
RNB : {8 ‘ \
I S o )
T T 6
- o7 '
< %j::%
EVR S e Ll | . i

b 12~¢40 ¢$ 50~ ¢ 100

h——= ) ] 7 ! | @

= = =er—rr—r— =}

TR
RCET — o el Aa|B|c|D|E
—|— 50 72 | 40 8 16 | 22
| 63 85 |46.5| 8 16 | 22
g A g o0 Ties Toos s Tia T2
RCB / RCE / RCE1 ( C:54:%5) QD : i 514 '
RNB /RNE ( N:fEHZE))
RDEP ( fiE5285)
(R SR AR ] E I - BRI * A=yt
V W42 RCB M W u[4:#% RCE, RCE1, RDEP jf# ¢ 50~ ¢ 100

b 32,0640

/M mindman



MCJQ EER/ ZHERLPE 612~ 425

HE (CAR) JEEREL

mindman

AR
L B+{7#2 L1
{ = T } { =
] T ]
A4 [ /
{ ) =
T ') T
K ‘ ‘
LX 4-4LD X |Y Y| X LG
LZ LS+{TH2
A+HTEE
1R5% T RATIE
1712 ARG Ffhgi 2y 1712 AlB|lLs L|L1|LD|LG|LH|LT|LX|LY|LZ| X | Y
mE\ @@ [ A B|LS| A B]|LS| #i®
12 5~30 |[35.3[17 |5 |40.3|22 [10 | 35~100 |50.3| 32 | 20 |13.5|24 |4.5|28 |17 |2 |34 [295| 44| 8 |45
16 5~30 |35.3[17 |5 |40.3/22 (10 | 35~100 |50.3| 32 | 20 |13.5|25.5|4.5(28 |19 |2 |38 (335/ 48| 8 |5
20 5~50 [41.2(19.5| 7.5 |51.2[29.5(17.5| 75~200 |62.7| 41 | 29 |14.5|28.5|6.6 |4 |24 |3.2| 48 [42 | 62| 9.2| 5.8
25 5~50 |(44.7(22.5(7.5|54.7|32.5(17.5( 75~300 [66.2| 44 | 29 (15 (32.5(6.6 |4 26 | 3.2 | 52 (46 66 |10.7| 5.8
HNF Y
M == =
5 B
2-¢FD
FX FT L1
Fz L B+{7iE
A+{THE
foe PEAEITAE FATIE
112 Az iy il 1ite A B FD|FT|FV|FX|FZ| L | L1
mE\ mE | Al B | A B | #E
12 5~30 [ 305 |17 |355 (22 | 35~100 | 455 | 32 [45|55]| 25| 45 | 55 [13.5|24
16 5~30 | 305 |17 |355|22 | 35~100 | 455 | 32 |4.5|55| 30 | 45 | 55 |13.5(25.5
20 5~50 |34 | 195 |44 | 295 | 75~200 | 555 | 41 |6.6|8 | 39| 48 | 60 |14.5[28.5
25 5~50 | 37.5| 225 | 475 | 32.5 | 75~300 | 59 44 (668 |42| 52|64 (15 [325

/ﬂ//ﬂMinqun



MCJQ BEER/ HERPE 12~ 025

3 1 :A P—l =1 -
EE (CRR) |mEREL mindman
G
ﬂ T |
HH—7 F———11 z
- 2-¢FD
L1 L B+{7f¢ FT FX ¢
A+HTHE Fz
prem FEHEITAE FIT2
1712 FFHEE ffpgi Y 1712 FD|FT|FV|FX|FZ
- A|B|L|L1
] A(B|L[L1{A|[B|L/{L1 i [#]
12 5~30 (26 [17 |35|14 |31 |22 |35[14 | 35~100 51 | 32 [13.5|24 |45|55]( 25 | 45 | 55
16 5~30 (26 [17 |3.5[155|31 |22 |3.5[155| 35~100 (51 | 32 [13.5[25.5|4.5|5.5| 30 | 45 | 55
20 5~50 |32 [19.5| 4.5 |18.5|42 |29.5| 4.5 [18.5| 75~200 [63.5| 41 |14.5/28.5|6.6 |8 | 39 | 48 | 60
25 5~50 |35.5|22.5|5 [22.5|455|32.5|5 |[22.5| 75~300 |67 | 44 |15 |32.5|66|8 |42 | 52 | 64
ShFY
CT. CD 7. H10
i d9
ﬁ s o !
(T - 7 —
n Y % <0
L1 cu CX03
L B+T2 cw cz3}
CL+7H2 RR|
A+HTTE
e FEHEITAE Ei72
1712 Byl ffpgi Ay 1712 CD|(CT|CU|ICW|CX|CZ|RR
PRI . - A|[B|CL| L |L1
= ] A|B|CL|L(|L1|A|B|CL|L |L1 =
12 5~30 (40517 |34.5|3.5|14 |455(22 [39.5|3.5[14 | 35~100 |65.5| 32 |59.5(135(24 | 5[ 4 | 7|14 |5 |10] 6
16 5~30 (41517 |35.5| 3.5 |15.5|46.5|22 [40.5| 3.5 [15.5| 35~100 |66.5| 32 |60.5(13.5(25.5( 5| 4 [10 | 15| 6.5/ 12| 6
20 5~50 |51 [19.5|42 |4.5|18.5|61 |29.5(52 |4.5[18.5| 75~200 |82.5| 41 |73.5(14.5(285| 8 | 5 [12 |18 |8 | 16| 9
25 5~50 |57.5|22.5|47.5|5 |22.5|67.5|32.5(57.5| 5 |[22.5| 75~300 |89 | 44 |79 |15 [32.5( 10 | 5 [ 14 [ 20 [10 | 20 | 10

/M mindman




MCJQ EHA/ 2R ¢32~6 100

3 1 :A P—l =1 -
EE (B8 ) smEREL mindman
Ao il
N2 Y At A |
EHELTHE L B+ ‘ L1 ‘
= ¥ i T ‘ i T
=0
©) 1 b [
T T T I T
- I .
‘\G} [ S— i (,G}/‘ [ : : »i
| LX \\ 4-6LD x |y 5 v| x || Lo
LZ LS+{THE
A2
42
RATHE 2Rl YR
L ‘ L1 ‘
=T = T T
R5% T RATHE
7 EN e i RGR i | g ls| L Y|P |LE|LH|LT | LX|LY |LZ| X | ¥
wE\ gE [ A B|LS| A B|LS| #E
5~50 47.2| 23 7
32 57.2| 33 | 17 | 125~300 |69.7|45.5|29.5| 17 |1385|6.6 | 4 |30 (32| 57 | 57 | 71 |[11.2| 5.8
75,100 (57.2| 33 | 17
5~50 53.7|129.5|13.5
40 63.7|39.5/23.5| 125~300 (79.2(55 (39 17 |385( 66| 4 | 33 |3.2| 64| 64 78(11.2( 7
75,100 |63.7[39.5(23.5
5~50 56.7|130.5| 7.5
50 66.7|40.5|17.5| 125~300 (81.7(55.5(32.5| 18 |43.5| 9 5 (39 (32| 79| 78 95|14.7| 8
75,100 |66.7|40.5(17.5
5~50 62.2|136 |10
63 72.2|46 (20 125~300 (83.2(57 |31 18 [43.5] 11 5 |46 [ 32| 95(91.5[113(16.2] 9
75,100 [72.2(46 |20
5~50 75 |43.5(13.5
80 85 |53.5(23.5| 125~300 (97.5(66 |36 20 [53.5( 13 7 |59 [45]118|114(140(19.5] 11
75,100 |85 |53.5(23.5
100 5750 88 |53 19 98 |63 |29 125~300 22 [53.5( 13 7 7116 137113616223 [12.5
75,100 |98 |63 |29 : :

/ﬂ//ﬂMindman



MCJQ R/ 23502 32~ 100

mindman

5 | Sha = [Ex
ER (CAR) |mEREL
Ao AN
_ — T = — T T
QEC/—
i = E 4@4 _—
L
4-¢FD FT L1
FX =
L B+{7f2
Fz A+THE
o TR Efi2
71 R (] itz | , | g |FD|FT|FV|FX|FZ| L |L1|M
P\ A|lB|A|B fE|
5~50 40 23
32 50 33 125~300 | 62.5 | 455 | 5.5 8|48 | 56| 65| 17 |38.5| 34
75, 100 50 33
5-50 | 46,5 | 29.5
40 56.5 | 39.5 | 125~300 | 72 | 55 |55| 8| 54| 62| 72| 17 |38.5] 40
75,100 | 56.5 | 39.5
5~50 48.5 | 30.5
50 58.5 | 40.5 | 125~300 | 73.5 | 55.5| 6.6 9| 67| 76| 89| 18 |43.5| 50
75,100 | 58.5 | 40.5
5~50 |54 |36
63 64 |46 |125~300|75 |57 | 9 | 9| so| 92|108| 18 |43.5 60
75,100 | 64 46
5~50 63.5 | 435
80 735 | 535 [125~300 | 86 | 66 | 11 | 11 | 99| 116|134 20 |53.5| 77
75,100 | 73.5 | 53.5
100 2220175 198 [or |6s |125-300| — | — | 11| 11 | 117|136 154 22 [535| 04
75,100 | 85 63 ’

/M mindman




MCJQ R/ 23502 ¢ 32~ 100

< : P—l =1 -
#EE (CAE) ®mEEEL mindman
i Y 4 Nzl i
*m—w'ftf*i — —— —— T .
I T —‘ T T o~ ﬂ)\
2y
N | P Js
. . L .
AL
i Ok
B ‘ L ‘ B+{T2 FT FX 4-¢FD
AT Fz
-
RITHE YhoF I LR
=T =T —‘ T T
L1 ‘ L ‘
. REE ER
| AR | W o FD|FT|FV|FX|Fz| M
o ww [A[B | A[B ||| ewm A8 Y
5~50 38 23
32 48 33 7 128.5(125~300|70.5|455| 17 |385|55| 8 | 48| 56 | 65 | 34

75,100 | 48 33

5~50 44.5 | 29.5
40 545|395 7 |28.5(125~300 |80 |55 17 |385(55( 8| 54| 62| 72| 40
75,100 | 54.5 | 39.5

5~50 47.5 | 30.5
50 57.5 | 405 | 8 |33.5/125~300|82.5|55.5| 18 [435(6.6| 9| 67| 76| 89| 50
75,100 | 57.5 | 40.5

5~50 53 36
63 63 46 8 |33.5| 125~300 [ 84 |57 18 |435( 9 9| 80| 92|108| 60
75,100 | 63 46

5~50 64.5 | 43.5
80 745 | 53.5 | 10 |43.5[ 125~300 | 97 |66 20 |53.5( 11 [ 11| 99| 116|134 | 77
75,100 | 74.5 | 53.5

5~50 76 53

100 5[125~300 | — | — | — | —
75100 Tes Tes 1% |0 |12]43s 1| 11 [117]136| 154 | 94

/ﬂ//ﬂMindman



MCJQ EHA/ 2R ¢32~6 100

EE (AR ) smEREL mindman
e T VR AR o e mzan
P b . P Pl - $CD 7L H10 —
il d9

@

+0.4

L1 |_CU| CXio
L B+{712 cwW czod
CL+{TF2 RR
A+HTHE
RITHE NP Py
i i T 7

T ) T T

)/ 7/

L1 ‘ L‘

yrom PR TRE E17E
e BN ] ] i ch|cT|cu|cw|cx|cz| N |RR
e L|L1 L | L1
miE\ gm [ Al B[cL| A B][cL wm | M| B o
5~50 60 | 23 | 50
32 70 |33 |60 7 128.5|1 125~300|92.5|45.5|825| 17 | 38.5| 10 5 14 |1 20| 18 | 36 | M6X1.0 | 10

75,100 [ 70 | 33 | 60

5~50 68.5/29.5/58.5
40 78.5|39.5|68.5| 7 |28.5| 125~300 |104 |55 94 | 17 (38510 | 6 [ 14|22 | 18 | 36 | M6X1.0 | 10
75,100 |78.5(39.5(68.5

5~50 80.5|30.5|66.5
50 90.5(40.5(76.5| 8 |[33.5| 125~300 |115.5| 55.5|101.5| 18 [43.5( 14 | 7 [ 20 | 28 | 22 | 44 [M8X1.25| 14
75,100 |90.5|40.5(76.5

5~50 88 |36 (74
63 98 |46 (84 8 [33.5| 125~300 (119 |57 (105 | 18 |43.5| 14 | 8 | 20 [ 30 | 22 | 44 |M10X 15| 14
75,100 |98 (46 (84

5~50 109.5(43.5| 91.5
80 119.5|153.5|101.5| 10 [43.5| 125~300 |142 |66 |124 | 20 |53.5| 18 | 10 | 27 | 38 | 28 | 56 (M12Xx1.75| 18
75,100 |119.5|53.5(101.5

/M mindman



MCJQ Bk 612~ 100

ER (AR ) REREL mindman

| F T | RF 2 EIIRIE

S2 st

= i D
-0

T

& ]

5 i

o = :

] _ Ml Aa|B|C D

| 2| s2 | P1”| 1 Wigz 4 | 8 | 92 | Msx08
12 6 1.5 12 15 1.5 16 5 10 | 11.5 | M6x1.0
16 | 10 | 15 16 | 20 | 15 20 | 5 | 13 | 15 [m8x125
20 | 13 | 2 20 | 13 |2 25 | 6 | 17 | 196 [M10x125
25 | 15 | 2 25 | 15 |2 32,40 8 | 22 | 254 |M14x15
32 | 21 |2 32 | 21 ]2 50,63| 11 | 27 | 314 [M18x15
40 | 28 | 2 40 | 28 | 2 80 | 13 | 32 | 37 |[M22x15
50 | 35 |2 50 | 35 |2 100 | 16 | 41 | 47.3 [M26x15
63 | 35 | 2 63 | 35 |2
80 43 | 2 80 43 [ 2
100 | 59 | 2 100 59 |2

b}

ETE%{JC%‘L% : 2-C0.5 E
PIN-MCJQ—-20—-CB—-P

T T T "

1 FAIPTE P &im
12
16
20 AUzt A

25 4 5
32 CB : CB JciH]

40 sHICB

o 2l Aa|B | c|¢D°| od E | s
100 12 | 146 | 102 | 22 | 558 | 4.8 8, (0.7 *3™| STW-5
16 | 166 | 122 | 22 | 5358 | 4.8 %, (0.7 2| STW-5
20 | 21 162 | 24 | 8200 | 7.6 005 |0.9 5| STW-8
25 | 256|202 | 2.7 | 10268 | 9.6 00 |1.15'0" | STW-10
32,40| 416 | 362 | 2.7 | 10200 | 9.6 00e | 1.1570 ™| STW-10
50,63 | 506 | 442 | 32 | 1420% |13.4 04 [1.1570"| STW-14
—0.05

80 |64 |562| 39 |1820% |17.0 04 [1.3570™| STW-18

100 | 72 | 64.2 | 3.9 [ 22289 |21.0 0z [1.3570" | STW-22

¢D

/M|Mindman



	1_規格
	2_內部構造及主要零件/標準行程
	3_內部構造及主要零件/長行程
	4_安裝配件
	5_外觀尺寸φ12~φ32
	6_外觀尺寸φ40~φ100
	7_傳感器φ12~φ100
	8_複動型/安裝配件φ12~φ25
	9_複動型/安裝配件φ12~φ25
	10_複動型/安裝配件φ32~φ100
	11_複動型/安裝配件φ32~φ100
	12_複動型/安裝配件φ32~φ100
	13_複動型/安裝配件φ32~φ100
	14_配件φ12~φ100

